
 

Integer Programming

max x Ex

st AX b
30 E Z



Integer Programming

max x Ex

st AX b relaxed problem
30 X E Z

Rk
Solving the problem without the int constraints
and then round up down the solution does

not work because

11 rounded solutionmight not be feasible
2 true opt.int solution mightbe far from

the rounded solution
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Branch and Bound

It is better going deep depth search

before going wide breadth search

dual feasible

new constraint
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Note

A b X are integers

and so are slacks
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relaxed

Optimal dictionary
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Opt dict W4 tows 2

New slack
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new slack
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